Maths answers

Monday

Perimeter on a grid @

° Work out the perimater of each rectongle.

o) [1om
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o Which of the hexagons has the greatest parimeter?
Show all your workings.
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thape P hos the greotest parlmeter.

° Draw two different rectangles with o perimeter of 14 cm.
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° Wiork out the perimater of the shape. ° Wiork out the perimeter of the rectangle.
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° A shape Is drawn on a square grid.

Part of the shape Is hidden.
° Draw two shapes with a perimeter of 20 om. »
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Your shapes should not be rectangles. 1cm H
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[ what could the perimeter of the shape be?

Is there more than one answer? @
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Perimeter of a rectangle
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e Work out the perimeter of each rectangle.

" &5 ) work out the perimeter of the rectangles.
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° Tommy Is working out the perimeter of some rectongles.

acm

5 om Bon+5an= 13 cm
13 omx 2= 26 cm

Usa Tommy's method to find the perimeter of
these rectangles.

a) . 5cm
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[@]emx2=[ 13 Jam

b} i 10 cm
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[Z]emx2=[30 ]

Tuesday

° Each lolly stick Is 8 cm long.
Find the perimetar of the shape.

6L e,

° Each of these rectangles has a perimeter of 24 am.
Wiork out the missing lengths and label the diograms.

What do you notlce?
Find any other rectangles that have the same perimeter.
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Wednesday

Perimeter of rectilinear shapes

e The length of each square on the grid Is 1 cm.
Work out the perimeter of the shapes.

a)

b)

A0 ern 6 em

o Work out the perimeter of the shape.

10 cm
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° a) Work out the missing lengths and label them on
the diogram.
[

a_

b) What Is the perimeter of the shape?
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° work out the perimeter of each shape.
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o Mo puts two 5 cm by 3 cm rectangles next to each other.

5cm 5am

The perimeter of
each small rectangle is 16 cm,
so the perimeter of my

larger rectangle must be
9 2x%x 16em = 32 cm.

a) Is Mo correct? =

Work out the perimeter of the larger rectangle to check
your answer.

P
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b) Mo puts the rectangles together In different ways.
work out the parimeter of each large shape.
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Wednesday

° Danl thinks there isn’t enough information to work out the
perimeter of the shape.

©

12 cm

Fe

10wm

Is Danl correct? =

Explain your answer,

©C O

° A rectangular flower bed Is 5 m long and 3 m wide.
The path around the flower bed Is 1 m wide.

a) What Is the perimeter of the flower bed?

b) What Is the perimeter of the outside of the path?
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Calculate _uml_.:m.nmﬂ ° Colculate the perimeter of these shapes.

a) Bom
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e Calculote the perimeter of eoch shaps. 8om
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1Y e [y o Caloulate the perimeter of these shapes.
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° Work out the missing lengths on these shopes.

a) b) 10 am
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Discuss with a partner how you worked them out.

° Calculate the perimeter of these shapes.
a) b)

-
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Thursday

° Mo thinks that there is not enough information to calculote the
perimeter of the shape.

Is he correct? How do you know? @

17 am

)

no Tha Qerurarer s S8omny

° Rosie is making shapes mode up of 3 rectangles.
Each rectangle has o length of 10 cm ond o width of 4 cm.
She maokes these 2 shopes.

a) Which shape has the greatest perimeter? Imr
b) What other shapes can you make with 3 rectongles? @
What is the perimeter of the shapes?
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° Here Is a kitchen tile.

Counting squares

o) What area of the tile Is blua? L, | squares
° Count the squares In each shope to find the area. b) what area of the tile s white? L | squares
A
- ) What Is the total area of the tile? | O | squares
The area Is m_ sOjuares.
_ _ _ _ _ _ ° These two shapes are made up of squores of the same size.
. c | | |

The area Is H squares. The area Is _H_ squares. )
. have the same area
ﬁ.“. e

ok |

‘Which shape hos the gregtest area?
The first shape is bigger as it

tokes up more space.

0 ‘What s the area of the shaded part of the shape?

who s correcty 22

Explain how you know.

Thupes b ‘rour on omo oc 9 SoAREn

The area is| || |sguares.
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Friday

° Here Is a rectangle.

a) The rectangle hos

rows and

b} what Is the area of the rectongle?

€) How did you work out the area?

0 Find the areqa of each rectangle.

columns.

[ s

A= squares

Sguares

C=

SquUares

&

° Nijah and Eva are making shopes. ©_

They each use & squares.

Nijah's shapea Eva's shapsa

The area of Mijah's shape is equal to the area of Eva’s shape.

Is this true or falsae?

How do you know?

° what Is the area of each shape? @.

ared = Suares ared = squares




